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#
6 Choose the correct variant. Annie___ at 7.00 in the morning.
A. getup
B. gets up
C. getting up
D. do get up
E. does get up
7 Choose the correct variant. | late for the lesson yesterday.
A. arrived
B. is arriving
C. arriving
D. arrives
E. arrive
8 Choose the correct variant. What are you doing now? — | ___ for a bus.
A. is waiting
B. waits
C. waited
D. am waiting
E. are waiting
9 Choose the correct variant. Please listen ___ to what ’'m saying.
A. carefully
B. nearly
C. together
D. really
E. quiet
10 Choose correct sentences
A. | the shower have in a morning always.
B. I always have a shower in the morning.
C. I have always in the shower a morning.
D. I in a morning have always the shower.
E. Do you always have a shower in the morning?
11 Choose the correct variant. Yesterday the weather was ___ than today.
A. warmer
B. warm
C. warmest
D. the warmest
E. as warm as
12 Choose the plural nouns
A. children
B. street
C. mice
D. flower
E. desk



13 Replace the noun in brackets with the correct pronoun: Don't ask (Ann)
questions.
A. me
B. you
C. him
D. her
E. it
14 Choose the correct variant. Are there letters for me this
morning?
. any
some
anything
. something
nothing

mooOw>
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15 Choose the correct words: How much do we need?

A. eggs

B. bread

C. biscuits

D. sugar

E. sandwiches
#

6 Choose the correct variant. She _ alot.
A. reads
B. read
C. reading
D. do reads
E. do read
7 Choose the correct variant. | TV yesterday.
A. watched
B. is watching
C. watching
D. watches
E. watch
8 Choose the correct variant. My sister is not studying, she ___to music.
A. is listening
B. listen
C. are listening
D. does listen
E. listens
9 Choose the correct variant. Can | open the window? It’s _ hot here.
A. especially
B. carefully



C. hard
D. later
E. really
10 Choose correct sentences
A. Go | sometimes to the cinema.
B. 1 go to the cinema sometimes.
C. Do they sometimes go to the cinema?
D. I sometimes go to the cinema.
E. | to sometimes cinema the go.
11 Choose the correct variant. He isn't very clever. His sister ismuch
A. clever
B. cleverer
C. cleverest
D. the cleverest
E. as clever as
12 Choose the plural nouns
A. friends
B. women
C. box
D. house
E. country
13 Replace the noun in brackets with the correct pronoun: Tell (Max) what has
happened.
A. me
B. you
C. him
D. her
E. it
14 Choose the correct variant: Would you like coffee?
A. any
B. some
C. anything
D. something
E. nothing
15 Choose the correct words: How many _ do we need?
A. bread
B. yoghurt
C. eggs
D. bread
E. oranges

I

6 Choose the correct variant. He English.
A. speaks
B. speak



C. speaking
D. do speaks
E. does speaks
7 Choose the correct variant. When he lived in New York, he _ in abank.
A. works
B. work
C. is working
D. are working
E. worked
8 Choose the correct variant. The Chinese against the Japanese and the
Koreans now.
A. are competing
B. competes
C. is competing
D. has competed
E. competed
9 Choose the correct variant. Sh! Speak ! The baby is asleep.
A. quiet
B. quietly
C. really
D. quite
E. later
10 Choose correct sentences
A. We on holiday go often to France.
B. We often go to France on holiday.
C. France go to we on holiday often.
D. Do they often go to France on holiday?
E. We to often France holiday go on.
11 Choose the correct variant. Cats are friendly, but dogs are a lot
A. friendly
B. the most friendly
C. most friendly
D. friendlier
E. as friendly as
12 Choose the plural nouns
A. student
B. city
C. people
D. teacher
E. clouds
13 Replace the noun in brackets with the correct pronoun: We found (the boy) in
the room.
A. me
B. you
C. him



D. her
E. it
14 Choose the correct variant. Don't buy bread. We have
lots.
A. any
B. some
C. anything
D. something
E. nothing
15 Choose the correct words: How much __ do we need?
A. milk
B. potatoes
C. onions
D. bananas
E. water

i

6 Choose the correct variant. He _ work at 18.00.
A. finish
B. finishes
C. finishing
D. do finish
E. finishs
7 Choose the correct variant. | my job two weeks ago.
A. started
B. start
C. starts
D. starting
E. is starting
8 Choose the correct variant | can’t speak to you now, | the newspaper.
A. is reading
B. reads
C. read
D. am reading
E. have read
9 Choose the correct variant. The plane leaves at 6.00 a.m., so we need to get up
A. early
B. carefully
C. hard
D. well
E. late
10 Choose correct sentences
A. | never drink coffee in the morning.



B. Drink coffee | never in the morning.
C. I don’t drink coffee in the morning.
D. Never drink | coffee in the morning.
E. I never coffee in the drink morning.
11 Choose the correct variant. Your homework is good, but I think you can do
A. good
B. better
C. the best
D. best
E. as good as
12 Choose the plural nouns
A. parties
B. scissors
C. room
D. child
E. kitchen
13 Replace the noun in brackets with the correct pronoun: Try to find (the books)
quickly.
A. him
B. her
C.it
D. us
E. them
14 Choose the correct variant. I didn’t buy books at the shop.
A. any
B. some
C. anything
D. something
E. nothing
15 Choose the correct words: How much _ do we need?
A. carrots
B. butter
C. oranges
D. apples
E. tea

I

6 Choose the correct variant. Brian £45.000 a year.
A. earn
B. earns
C. doearn
D. does earns
E. earning



7 Choose the correct variant. | very hard last week.
A. works
B. work
C. is working
D. are working
E. worked
8 Choose the correct variant.  The today’s party is great! Everybody  it.
A. are enjoying
B. is enjoying
C. am enjoying
D. enjoy
E. enjoyed
9 Choose the correct variant. I’'m scared! You drive too I Slow down!
A. early
B. fast
C. hard
D. good
E. late
10 Choose correct sentences
A. Sister me my than younger is.
B. My sister is younger than me.
C. Me sister my younger is than.
D. Than sister my younger me is.
E. Is your sister younger than you?
11 Choose the correct variant. The news is bad, but it could be
A. as bad as
B. the worst
C. worst
D. worse
E. bad
12 Choose the plural nouns
A. water
B. strawberries
C. apple
D. boys
E. uncle
13 Replace the words in brackets with the correct pronoun: She looked at (I and
my friend) again.
A. him
B. her
C.it
D. us
E. them
14 Choose the correct variant. Can | have milk, please?
A. any




B. some
C. anything
D. something
E. anywhere
15 Choose the correct words: How many _ do we need?
pasta
apple juice
sandwiches
chocolate

€ggs
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6 Choose the correct variant. He _ to bed at 9.00 o'clock.
A. go
B. goes
C. going
D. dogo
E. does goes
7 Choose the correct variant. He ___ in California in 1990.
A. lived
B. live
C. lives
D. to live
E. living
8 Choose the correct variant. Can | use your computer? — Sorry, | on it at
the moment.
A. is working
B. has worked
C. works
D. am working
E. worked
9 Choose the correct variant. | did really _ in my exams! | got 80%.
A. early
B. fast
C. hard
D. well
E. late
10 Choose correct sentences
A. Family the am my in | oldest.
B. Who is the oldest in your family?
C. I am the oldest in my family.
D. Am family the my in | oldest.
E. | family am the my oldest in.



11 Choose the correct variant. This lesson is so difficult. Yesterday it was much

as easy as
the easiest
easiest
easy
. easier
12 Choose the plural nouns
A. cat
B. glasses
C. holiday
D. café
E. trousers
13 Replace the noun in brackets with the correct pronoun: | put the letter into (the
box).
A. him
B. her
C. it
D. us
E. them
14 Choose the correct variant. There aren't big shops in my village.
A. any
B. some
C. anything
D. something
E. nothing
15 Choose the correct words: How much _ do we need?
. apples
oranges
oil
. Cheese
potatoes

oo wpl
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6 Choose the correct variant. She _ dolls from all over the world.
A. collect
B. collects
C. don’t collect
D. do collect
E. collecting
7 Choose the correct variant. | a very interesting film last week.
A. watched
B. watches
C. watch



D. to watch
E. watching
8 Choose the correct variant. Are they busy at the moment? — No, they
video games.
A. are playing
B. plays
C. played
D. is playing
E. have playing
9 Choose the correct variant. My father works every day.
A. beautifully
B. good
C. hard
D. really
E. especially
10 Choose correct sentences
A. Usually for | have toast breakfast.
B. | have breakfast usually for toast.
C. l usually have toast for breakfast.
D. Have toast | for breakfast usually.
E. What do you usually have for breakfast?
11 Choose the correct variant. This jumper is too small. | need a one.
A. bigger
B. big
C. biggest
D. the biggest
E. as big as
12 Choose the plural nouns:
A. sister
B. car
C. watches
D. cinema
E. teeth

13 Replace the noun in brackets with the correct pronoun: He brushed (his hair).

A. him

B. her

C.it

D. us

E. them
14 Choose the correct variant. | can’t find my keys
. any
some
anything
something
anywhere

moowz



15 Choose the correct words: How many _ do we need?
A. onions
B. milk
C. bread
D. carrots
E. wine

#

6 Choose the correct variant. John ___in New York.
A. live
B. lives
C. do live
D. don’t live
E. living
7 Choose the correct variant. When | was a child, | to be a doctor.
A. want
B. wanted
C. wants
D. to want
E. do want
8 Choose the correct variant. She cannot answer the phone. She lunch.
A. has
B. had
C. are having
D. is having
E. have
9 Choose the correct variant. The TV programme ends really . About
midnight.
A. early
B. fast
C. hard
D. well
E. late
10 Choose correct sentences
A. Is German much more difficult than English?
B. German difficult English is more than much.
C. German is than English more much difficult.
D. German is much more difficult than English.
E. German than English difficult is more much.
11 Choose the correct variant. This flat is too old for me. | want somewhere
A. modern
B. more modern
C. most modern
D. the most modern



E. as modern as
12 Choose the plural nouns:
A. winter
B. bus
C. men
D. cousins
E. address
13 Replace the nouns in brackets with the correct pronoun: We must give (a cat
and a dog) names.
A. him
B. her
C.it
D. us
E. them
14 Choose the correct variant. I can’t cook dinner. There’s in the fridge!
A. any
B. some
C. anything
D. something
E. nothing
15 Choose the correct words: How much _ do we need?
A. ice cream
B. coffee
C. tomatoes
D. potatoes
E. onions

i

6 Choose the correct variant. Thomas____ three children.
A. have
B. has
C. don’t have
D. having
E. do have
7 Choose the correct variant. | tennis last Sunday.
A. play
B. am playing
C. played
D. plays
E. to play
8 Choose the correct variant. My class stories in their own language.
A. am telling
B. are telling
C. istelling



D. tells
E. told
9 Choose the correct variant. Peter speaks Chinese very
A. fluent
B. fluently
C. early
D. late
E. hard
10 Choose correct sentences
A. Always to work George walks.
B. George to walks always work.
C. Does George always walk to work?
D. Walks work George always to.
E. George always walks to work.
11 Choose the correct variant. This TV programme is boring. Is there something
on another channel?
interesting
as interesting as
more interesting
most interesting
. the most interesting
12 Choose the plural nouns:
A. drinks
B. shirt
C. work
D. names
E. person
13 Replace the noun in brackets with the correct pronoun: The teacher is helping
(Peter) to translate the text.
A. she
B. he
C. his
D. him
E. it
14 Choose the correct variant. Would you like to listen to music?
A. any
B. some
C. anything
D. something
E. nothing
15 Choose the correct words: How many _ do we need?
A. fruit
B. potatoes
C. water
D. tomatoes

mooOwp



E. juice

#

6 Choose the correct variant. My brother__ at home because he has a computer.

A. work
B. works
C. do work
D. don’t work
E. working
7 Choose the correct variant. Yesterday she _ at home.
A. stay
B. stays
C. stayed
D. to stay
E. staying

8 Choose the correct variant. Renee in Africa now.

A. are working
B. am working
C. has working
D. have worked
E. is working

9 Choose the correct variant. | love all ice cream, but

A. enough
B. especially
C. quite
D. nearly
E. later

10 Choose correct sentences
A. Works never he late.
B. Late never works he.
C. Never he late works.
D. He never works late.
E. He doesn’t work late.

vanilla ice cream.

11 Choose the correct variant. My coffee is very weak. Can | have a one?

A. strong
B. as strong as
C. strongest
D. stronger
E. the strongest
12 Choose the plural nouns:
A. jeans
B. feet
C. book
D. student



E. chicken
13 Replace the noun in brackets with the correct pronoun: My friend is going to
write a letter to (his mother) today.

A. me

B. she

C. him

D. it

E. her
14 Choose the correct variant. Can | have chips with my
steak?

A. any

B. some

C. anything

D. something

E. nothing
15 Choose the correct words: How much _ do we need?

A. potatoes

B. onions

C. milk

D. tomatoes

E. chocolate

#

6 Choose the correct variant. Our mother TV every evening.
A. watch
B. watches
C. do watch
D. don’t watch
E. watching
7 Choose the correct variant. Yesterday she  to music.
A. listen
B. listens
C. listened
D. to listen
E. listening
8 Choose the correct variant. The students so much noise.
A. has made
B. is making
C. are making
D. have making
E. am making
9 Choose the correct variant. You play golf very .
A. really
B. well



C. especially
D. quite
E. fluently
10 Choose correct sentences
A. Weather better today than much is yesterday the.
B. Weather much today than better the yesterday is.
C. Yesterday the weather was much better than today.
D. The weather better today than is yesterday much.
E. The weather today is much better than yesterday.
11 Choose the correct variant. Pete's car is than Ann's car.
A. cheap
B. as cheap as
C. cheapest
D. the cheapest
E. cheaper
12 Choose the plural nouns:
A. countries
B. weekend
C. colours
D. theatre
E. bread
13 Replace the noun in brackets with the correct pronoun: This book is not
interesting for (children).
A. she
B. they
C. he
D. them
E. me
14 Choose the correct variant. likes the teacher. He’s really boring.
A. anywhere
B. some
C. anything
D. something
E. nobody
15 Choose the correct words: How many _ do we need?
A. carrots
B. tea
C. coffee
D. potatoes
E. milk

I

6 Choose the correct variant. She __ the children to school.
A. takes



B. take

C. to take
D. do take
E. taking

7 Choose the correct variant. Yesterday she _ a meal.

A. cook
B. cooked
C. cooks
D. to cook
E. cooking
8 Choose the correct variant. Today George
English.
A. teaching
B. is teaching
C. was teaching
D. has teaching
E. are teaching
9 Choose the correct variant. Please listen
A. late
B. early
C. especially
D. carefully
E. fluently
10 Choose correct sentences
A. Usually he to goes by bus work.
B. He usually goes to work by bus.
C. Work by bus he usually to goes.
D. How does he usually go to work?
E. Bus goes to he usually work by.
11 Choose the correct variant. My TV’s
A. big
B. as big as
C. biggest
D. bigger
E. the biggest
12 Choose the plural nouns:
A. eggs
B. bank
C. parents
D. cheese
E. food

the younger children some

to what I’m saying.

than yours.

13 Replace the noun in brackets with the correct pronoun: | met (my friend) at the

station.
A. they
B. them



C. he
D. she
E. her
14 Choose the correct variant: There isn’t food in the fridge.
A. some
B. something
C. any
D. anything
E. no
15 Choose the correct words: How many do you need?
A. water
B. lemons
C. milk
D. apples
E. bread

i

6 Choose the correct variant. Roberto watching football on TV.
A. likes
B. like
C. to like
D. do like
E. liking
7 Choose the correct variant. | early this morning.
A. got up
B. gets up
C. getup
D. is getting up
E. to get
8 Choose the correct variant. Some of the women hats.
A. wears
B. is wearing
C. are wearing
D. have wearing
E. am wearing
9 Choose the correct variant. Cook the chicken for 3 hours.
A. really
B. well
C. slowly
D. fast
E. fluently
10 Choose correct sentences
A. With a friend he has sometimes lunch.
B. Friend has lunch with a he sometimes.



C. Lunch has He sometimes with a friend.
D. He sometimes has lunch with a friend.
E. Does he sometimes have lunch with a friend?
11 Choose the correct variant. It is today than yesterday.
A. warm
B. as warm as
C. warmer
D. warmest
E. the warmest
12 Choose the plural nouns:
A. tree
B. water
C. jeans
D. stamps
E. piece
13 Replace the noun in brackets with the correct pronoun: He saw (his uncle) at the
party.
A. they
B. he
C. them
D. us
E. him
14 Choose the correct variant: I need to put petrol in the car. It’s nearly
empty.
A. any
B. no
C. some
D. something
E. somebody
15 Choose the correct words: How many are there in the street today?
A. people
B. cars
C. traffic
D. air
E. school

#

6 Choose the correct variant. She __ classes every day.
A. have
B. has
C. doesn’t has
D. to have
E. having
7 Choose the correct variant. | some friends last night.



met
meet
meets
to meet
. 1S meeting
8 Choose the correct variant. My sister , she is watching TV.
A. isn’t studying
B. isn’t study
C. do not study
D. are not studying
E. does not studying
9 Choose the correct variant. Their train arrives .
A. late
B. well
C. really
D. hard
E. fluently
10 Choose correct sentences
A. Oliver doesn’t come from Belgium.
B. Belgium doesn’t from come Oliver.
C. Does Oliver come from Belgium?
D. Doesn’t Oliver from come Belgium.
E. From Oliver doesn’t Belgium come.
11 Choose the correct variant. She’s girl I know.
A. the prettiest
B. prettiest
C. pretty
D. prettier
E. as pretty as
12 Choose the plural nouns:
A. cake
B. night
C. languages
D. brother
E. days
13 Replace the noun in brackets with the correct pronoun: She saw (her cousin) at
the party.
A. they
B. he
C. them
D. us
E. her
14 Choose the correct variant: | met friends from school last night.

A. any
B. anybody

COw>
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C. somebody

D. some

E. anything

15 Choose the correct words: How much Is there in the fridge?

A. oranges

B. apples

C. drinks

D. butter

E. ice cream

#

6 Choose the correct variant. My friend ___ at university, too.
A. study
B. studying
C. to study
D. studies
E. studys
7 Choose the correct variant. | shopping yesterday.
A. went
B. go
C. goes
D. is going
E. togo
8 Choose the correct variant. The other teacher, John, the older children.
A. has not teaching
B. are not teaching
C. am not teaching
D. do not teach
E. isteaching
9 Choose the correct variant. Everybody says that she sings
A. good
B. badly
C. late
D. hard
E. really
10 Choose correct sentences
A. Work doesn’t Sandra school at.
B. Sandra doesn’t work at school.
C. Doesn’t Sandra at school work?
D. Does Sandra work at school?
E. Sandra at school work doesn’t.
11 Choose the correct variant. It’s the film in the world.
A. bad
B. as bad as



C. worst
D. worse
E. not so bad as
12 Choose the plural nouns
A. coffee
B. people
C. banana
D. ham
E. carrots
13 Replace the noun in brackets with the correct pronoun: He saw (his friends) at
the cinema.
A. they
B. he
C. them
D. us
E. him
14 Choose the correct variant: 1’d like ice in my water, please.
A. some
B. any
C. somebody
D. something
E. anything
15 Choose the correct words: How much do you usually get?
A. tasks
B. homework
C. emails
D. questions
E. information

i

6 Choose the correct variant. My sister _ a cat.
A. have
B. has
C. doesn’t has
D. to have
E. having
7 Choose the correct variant. | ___to University by car yesterday.
A. come
B. came
C. comes
D. is coming
E. to come
8 Choose the correct variant. The children hats today, it is warm.
A. do not wear



B. does not wear
C. aren’t wearing
D. isn’t wearing
E. haven’t wearing
9 Choose the correct variant. I’'m a little tired, but I feel
A. well
B. slowly
C. fast
D. fluently
E. early
10 Choose correct sentences
A. Does Bill speak Japanese?
B. Speak doesn’t Japanese Bill.
C. Bill doesn’t speak Japanese.
D. Doesn’t Japanese speak Bill.
E. Bill speak doesn’t Japanese.
11 Choose the correct variant. Tommy’s the student in the class.
A. quiet
B. as quiet as
C. not so quiet as
D. quietest
E. quieter
12 Choose the plural nouns:
A. children
B. airport
C. cheese
D. women
E. question
13 Replace the noun in brackets with the correct pronoun: | saw (my friend) at the
party.
A. they
B. he
C. them
D. us
E. him
14 Choose the correct variant: Do we have eggs? | could make an omelette.
A. something
B. some
C. any
D. anything
E. nothing
15 Choose the correct words: How much do you drink a day?
A. milk
B. cups of tea
C. coffee



D. liters water
E. bottles of water
#

6 Choose the correct variant. His wife is a doctor. She _ a uniform.
A. wears
B. wear
C. doesn’t wears
D. to wear
E. wearing
7 Choose the correct variant. He __ school at 16.
A. leave
B. left
C. is leaving
D. leaves
E. to leave
8 Choose the correct variant. They are not studying maths today, they
physics.
A. are not study
B. is not studying
C. studies
D. studied
E. are studying
9 Choose the correct variant. In Sweden, they decorate their houses
A. good
B. beautifully
C. hard
D. really
E. early
10 Choose correct sentences
A. Sister my have doesn’t children two.
B. Children have two sister my doesn’t.
C. Two My children have sister doesn’t.
D. My sister doesn’t have two children.
E. Does your sister have two children?
11 Choose the correct variant. The Airbus A380 is the passenger plane in
the world.
A. big
B. bigger
C. as big as
D. not so big as
E. biggest
12 Choose the plural nouns:
A. service
B. petrol



C. letters
D. men
E. factory
13 Replace the noun in brackets with the correct pronoun: He saw (his father) at
the airport.
A. they
B. he
C. them
D. us
E. him
14 Choose the correct variant: There was rain last night.
A. some
B. any
C. anybody
D. something
E. somebody
15 Choose the correct words: How many do we need?
A. butter
B. bananas
C. cheese
D. milk
E. apples

#

6 Choose the correct variant. She ___in an Italian restaurant.
A. cooks
B. cook
C. doesn’t cooks
D. to cook
E. cooking
7 Choose the correct variant. When he was 7, he __ to school in a small village.
A. went
B. go
C. is going
D. goes
E. togo
8 Choose the correct variant. Renee twenty children in her class now.
A. are not teaching
B. am not teaching
C. does not teaches
D. is teaching
E. do not teach
9 Choose the correct variant. In Sweden, they drive
A. carefully



B. beautifully
C. hard
D. really
E. early
10 Choose correct sentences
A. Every Lucy go to Greece year doesn’t.
B. Lucy year doesn’t to Greece every go.
C. Does Lucy go to Greece every year?
D. Go Lucy doesn’t to Greece year every.
E. Lucy doesn’t go to Greece every year.
11 Choose the correct variant. The Nile is the river in the world.
A. longest
B. the longest
C. longer
D. as long as
E. long
12 Choose the plural nouns:
A. brother
B. teeth
C. towns
D. potato
E. student
13 Replace the noun in brackets with the correct pronoun: They saw (their teacher)
in the park.
A. they
B. her
C. them
D. us
E. his
14 Choose the correct variant: We don’tneed ~ money now.
A. some
B. something
C. anybody
D. anything
E. any
15 Choose the correct words: How many __ are there on the table?
A. books
B. pens
C. water
D. sugar
E. cheese

I

6 Choose the correct variant. She ___ a lot of sport every day.



A. do

B. does

C. doing

D. todo

E. doesn’t doing

7 Choose the correct variant. When he was 15, he _ his own computer company.

A. began

B. begin

C. begins

D. is beginning
E. to begin

8 Choose the correct variant. The older children a story today.

A. isn’t reading

B. has not read

C. have not reading
D. are reading

E. does not read

9 Choose the correct variant. In Sweden, people dress

A. good
B. fashionably
C. hard
D. really
E. early
10 Choose correct sentences
A. Peter doesn’t study art at college.
B. Does Peter study art at college?
C. Study Peter doesn’t at art college.
D. College Peter study art at doesn’t.
E. Art Peter doesn’t college at study.
11 Choose the correct variant. Everest is the
A. high
B. highest
C. the highest
D. higher
E. as high as
12 Choose the plural nouns:
A. book
B. magazines
C. yoghurt
D. raspberries
E. sugar

mountain in the world.

13 Replace the noun in brackets with the correct pronoun: He saw (his neighbor) at

the party.
A. they
B. he



C. them
D. us
E. him
14 Choose the correct variant: He doesn’t eat fast food.
A. any
B. some
C. no
D. nothing
E. anything
15 Choose the correct words: How much do you need?
A. juice
B. oranges
C. potatoes
D. pencils
E. sugar

i

6 Choose the correct variant. Every morning she _ to the kitchen.
A. go
B. goes
C. doesn’t goes
D. togo
E. going
7 Choose the correct variant. Many students _ to the lecture yesterday.
A. came
B. come
C. coming
D. comes
E. are coming
8 Choose the correct variant. They on their computers; you can use any
computer now.
A. is not working
B. has not worked
C. are not working
D. does not work
E. did not working
9 Choose the correct variant. In Sweden, everybody speaks English really :
A. early
B. beautifully
C. hard
D. well
E. late
10 Choose correct sentences
A. Where you would like go to for your holiday next?



B. Would you like go to for your holiday next where?
C. Where would you like to go for your next holiday?
D. Where next like you would to for go your holiday?
E. Would you like to go somewhere for your holiday?
11 Choose the correct variant. Bologna University is the university in the
world.
A. old
B. older
C. oldest
D. the oldest
E. asold as
12 Choose the plural nouns:
A. snow
B. weather
C. tomatoes
D. people
E. newspaper
13 Replace the noun in brackets with the correct pronoun: He saw (his aunt) at the
party.
A. they
B. he
C. them
D. her
E. him
14 Choose the correct variant: We would like water, please.
A. any
B. anybody
C. somewhere
D. some
E. something
15 Choose the correct words: How much do you need?
A. bread
B. bananas
C. money
D. apples
E. tomatoes



